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                                                      MATHEMATICS 

Class: IV                                                                                                           Date: 24.09.2024  

Time:  2 hours                                                                                                  Maximum Marks: 40 

Roll No: (In numerals)……………………………………………….  Section: ……………. 

Name of the Candidate:…………………………………………………..………………… 

Signature of the Invigilator:…………………………………………………………………... 

                            

 

 

    

 

 

 

      Signature of the Examiner with date: ……………………………………. 

      Signature of the Checker with date: ……………………………………… 

General instructions: 

• This question paper consists of 16 questions. 

• Answers should be written in the question paper itself. 

• All questions are compulsory. 

• Section A contains 4 questions of 1 mark each. 

• Section B contains 4 questions of 2 marks each. 

• Section C contains 4 questions of 3 marks each. 

• Section D contains 4 questions of 4 marks each. 
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SECTION A (4 x 1 = 4 Marks) 
 

Q1) Fill in the correct symbol < or > 

a) 23,049   _____    43,029 

b) 63,000   _____   24,663 

 

               Q2) The sum of the greatest 4-digit number and the smallest 3-digit                      

                       number is   _______________   
 

         Q3) Choose the correct answer and fill in the blanks. 

 

a) The perimeter of a square with one of its sides 3 cm is _________ 

(i) 10 cm (ii) 12 cm (iii) 13 cm 

  b)  The amount of surface a figure cover is its ________ 

(i) area (ii) side (iii) height 

              Q4) Count and write. 

                                                       

               a) Horizontal lines:  _______ 

                     b) Vertical lines:      _______ 

                               

                          SECTION B (4 x 2 = 8 Marks) 

         Q5) Arrange the following numbers in descending order. 

 

   48,271                28,174               82,417               78,241 
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               Q6) Find the perimeter and area of the given figure if each small square is of  

                     side 1 cm.    

a)                                                           b)  

                                         

           Perimeter = ________ cm                        Perimeter = ________ cm 

                  A rea  =  ________ square cm                 Area  =  ________ square cm 

 

 

                    Q7) Pick up the correct answer from the given options and fill in the box. 

       ( Line Segment              Line               Point                Ray) 

a)   

b)   

            c)   

            d)          

              Q8) Fill in the blanks. 

a) 0 X 561 =  

b) 65 X 93 X 21=93 X                X 65  

c) 896 X 1 =  

d)                     X 428 = 0 

SECTION C (4 x 3 = 12 Marks) 

       Q9) (i) Find the diameter of the circle with radius 4 cm 

             ……………………………………………………………………..……. 

             ..…………………………………………………………………………. 

             …………………………………………………………………………… 
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  (ii) Identify the figure as closed or open figure.     

a)                                             b)                                           c)   

                                                                  

                                                                                                 

Q10) Find the product 

     a) 32 X 24                                                              b) 73 X 11      

         …………………………………………………………………………… 

         …………………………………………………………………………... 

         …………………………………………………………………………… 

         …………………………………………………………………………… 

         …………………………………………………………………………… 

  Q11) Write in expanded form 

 

                            4,31,025 = _________ +  _________  + _________ + _________ + _________  + ________ 

 

      Q12) Solve: 

a) Sarani donated ₹12,700 every month to a charity trust from her income of 

₹55,860. Find out the amount of money left with her after donation. 

…………………………………………………………………………… 

…………………………………………………………………………… 

…………………………………………………………………………… 

…………………………………………………………………………… 

…………………………………………………………………………… 

………………………………………………………………………….... 

…………………………………………………………………………… 

b) What kind of value do you see in the above story? 

………………………………………………………………………….. 

………………………………………………………………………….. 
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SECTION D (4 x 4 = 16 Marks) 

 

   Q13) (i) Measu re  t he  g iven  l i ne  s egmen t s  u s ing  sca l e  and  wr i t e  the        

            measu remen t  in  t he  g iven  box .  

a) A                                                 B                         AB =        

b)  X                                        Y                                 XY = 

c)  P                                                        Q                  PQ = 

d)  M                              N                                          MN = 

 

              (ii) Identify the correct answer from the given options 

    (Diameter, Radius, Interior point, Centre)  

 

    

 

 

 

  

 

Q14) (i) Write the number name 

a) 33,033    

 

                          ____________________________________________________________ 

b) 2,01,546   

 

    ____________________________________________________________ 

    (ii) Write the place value and face value of the underlined digit. 

                                     Place Value                           Face Value 

a) 63,210             _________                        __________      

b) 2,95,143          _________                        __________ 

s 
o 

A

 
B

 

S: 

O:  
OA

:  
AB:  



P a g e  6 | 6 

 

        Q15) (i) Multiply 

a) 651 X 10 = ____________                    

                      b) 98 X 100 = ____________ 

                      c) 200 X 10 = ____________  

                      d) 3 X1000 = ____________ 

  

          (ii) Rita made a necklace with 213 beads. If she has made 5 such necklaces,   

                how many beads does she need in all?  

           …………….……………………………………………………………….. 

           ……………………………………………………………………………… 

           ……………………………………………………………………………… 

          ………………………………………………………………………………..  

          ………………………………………………………………………………….    

          Q16) (i) Subtract and check your answer by addition. 

                       68,025 – 25,114 

           …………….……………………………………………………………….. 

           ……………………………………………………………………………… 

           ……………………………………………………………………………… 

          ………………………………………………………………………………. 

          ……………………………………………………………………………….  

          (ii) Find the sum of 2,468 and 3,520 

           …………….……………………………………………………………….. 

           ……………………………………………………………………………… 

           ……………………………………………………………………………… 

          ……………………………………………………………………………….. 

         ………………………………………………………………………………..  

       


